4

[lenneHne AEeCATUYHbIX
Apobeun Ha HaTypanbHble
yucna

5 Knacc, ypok 117

/




YcTHas

pabora”

7,167 2,853 4,324 6,219

3,0089 0,989

[lpounTanTe Yncna.
BbinonHUTE OKpyrneHue Oo uensix, 4o
OECATbIX, A0 COThIX.

B 100 pas, B 1000 pas.

YBenunysTte Kaxkgoe 13 gaHHblx Yncen B 10 Pag,

/




YcTHas

pabora”
padunuecKknm AUKTaHT

(OTBeT «/]la» cooTBeTCTBYET _ ,0TBET «Hem» - \)

1)16,4:4=4,1 6)9:2=4,5

2) 15,5:5=3,1 7)8:16=0,5

3)1,8:2=0,9 8)5,5:11=0,5

4)7:2=3,5 9)63:630=0,1

5) 13,13:13=1,1 10)3,5:7=0,5
KAntou: N\

/




540 43200 590 21090

34000 50700 2100




TpeHnpoBOYH

ypaniierny”

a) 65,78 : 10 =

6) 87 : 10 =

8)8:10 =

2) 12,43 : 100 =
d) 0,056 : 100 =
e) 54 : 1000 =
X) 4,12 : 100 =

3) 768,9 : 1000 = /




